N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

[N o associated

malized x2 |

ck vs nor

[N of reco tra

track x?

berset

92 4 6 8 10 12 14 16 18 20

16 18 20

8 10 12 14

6

4

track x2

syoen areandnp

16 18 20
track x2

n PR T
B3
(=] =)
=

10°
102 L.
1

syoes ang

0 2 4 6 8 10 12 14

0,

10 12 14 16 18 20

8

6

track x2

ef'{p‘la\rqu%eg_modelTEST-ZA

_truth
som

syoel axey

syoesy angy

syoen

[ Nof reco track vs.

syoen



	Contents
	Page 1


